
                               CBT EXAM  NOVEMBER 2023 
                                                CLASS -5 (ALL SUBJECTS ANSWER KEY) 
 

SUBJECT – ENGLISH 
                                      READING 
 

Q. A Read the given extract and answer the question that follows- 

It’s a windy kind of day at my house. The pretty fall leaves are flying in my yard. They are 

orange, red, brown and gold. I like to watch the leaves fly. The wind makes the leaves come 

off the trees. Soon the leaves will be all on the ground. I can help my mom and dad rake 

them up. 

Q.1) What season is it? 

a) summer             b) winter           c) autumn         d) spring 

ANS. C) AUTUMN 

Q.2) What colours of leaves did the boy see?  

a) orange, red, brown and gold                           c) orange, black, brown, gold  

b) orange, purple, brown, gold                            d) all of these 

ANS. A) ORANGE, RED, BROWN, GOLD 

            WRITING 

Q.3 What is the meaning of discussion? 

a.) throwing discs                                                                b.) singing in group             

c.) talking together in a group on a single topic             d.) playing with friends 

ANS.C) TALKING TOGETHER IN A GROUP ON A SINGLE TOPIC 

Q.4 In the poem “Class discussion” when Jane replied to her teacher her voice was- 

          a) Clear and high              b) Clear and low             c) Loud             d) all of the above 

ANS. B) CLEAR AND LOW 

                                                    GRAMMAR 

Q. 5Fill in the blanks by adding un-, im-, or dis- to the words given in the bracket: 

The dog was ___________ to climb the tree to chase the cat. (able)  

A. disable         B. unable          C.) Both A and B       D.) None of the above 

ANS.B) UNABLE 

 



Q. 6 Fill in the blanks with appropriate word: 

Geeta arrived in Delhi two days _______. 

a) already            b) since          c) for              d) ago 

ANS. D) AGO 

                  SPELLING 

Q.7 Identify incorrectly spelt word: 

a)Quiet  b) Discusion   c) Chatterer   d) Talkative 

ANS. B) DISCUSION 

                  VOCABULARY 

Q. 8 Analyse the word relation and tick the correct option:  

  Breakfast : Morning 

    Dinner:    _________ 

a) Afternoon    b) Night     c) Lunch            d) Food 

ANS.B) NIGHT 

Q. 9 Choose the odd one out: 

        A. Generous       B. Quiet   C. Brave           D. Walking 

ANS.D) WALKING 

Q.10 Choose the correct adjective : 

 Arjun makes faces and teases others. He is ____________ 

        a) Naughty                  b) Studious                 c) Helpful              d) Generous  

ANS. A) NAUGHTY 

SUBJECT- HINDI 

पठन 

I) ननम्नलिखित अपठठत गद्यांश को पढ़कर सही विकल्प चुननए। 
एक ककसयन ,एक दकुयनदयर  को रोज एक ककिो मक्िन बेचय करतय थय।एक ठदन दकुयनदयर 
ने ्ह परिने के लिए मक्िन एक ककिो है ्य नहीां , उसे तौिय और पय्य कक मक्िन कम 
थय इस बयत से िह गुस्सय हो ग्य और ककसयन को अदयित में िे ग्य। जज ने ककसयन से 
पूछय कक उसने तौिने के लिए ककस बयट कय इस्तेमयि कक्य थय ?ककसयन ने जियब 
ठद्य , हुजूर मैं अज्ञयनी हूूँ। मेरे पयस तौिने के लिए कोई सही बयट नहीां हैं िेककन मेरे पयस 
एक  तरयज ूहै।जज ने पूछय तो तुम मक्िन को कैसे तौिते हो ?ककसयन न ेजियब ठद्य इसने 



मक्िन तो मुझसे अब िरीदनय शुरू कक्य , मैं तो बहुत पहिे से इससे एक ककिो शक्कर 
िरीद रहय हूूँ। उसी  एक ककिो शक्कर को बयट बनय कर बरयबर कय मक्िन तौि कर देतय हूूँ। 
इसमें पूरय दोष दकुयनदयर कय है। 
1.इस कहानी से हमे क्या शिक्षा  शमलती है? 

अ) जैसा करत ेहैं वैसा फल शमलता है । ब) बुरा करन ेसे अच्छा फल शमलता है। 

स) लालचका फल मीठा होता है।                द)  अनपढ़ होने के बहुत फायदे हैं। 

उत्तर (अ) जैसा करते हैं वैसा फल शमलता है। 

2.ककसान दकुानदार को रोज क्या बेचता था? 

अ)िक्कर                                     ब) मक्खन                       स)  दधू।                           द) घी 

उत्तर - (ब) मक्खन 

3.'परिनय' शब्द  कय समयनयथी शब्द  पहचयनो। 
अ ) िोजनय।                                         ब) जयूँचनय                      स)चिनय                         द)  लमिनय 
उत्तर - (ब)जयूँचनय 
4.तोि में हेरय-फेरी कौन करतय थय?  

अ)ककसयन                                       ब)दकुयनदयर                     स)जज                    द)दकुयनदयर की पत्नी  
उत्तर - (ब) दकुयनदयर 

 

िेिन 

5. गुरुजी ने चेिे के  कयन में क््य कहय ?  

अ)गाना     ब) मंत्र     स) गीता के श्लोक     द) राजा का राज़  

उत्तर (ब) मंत्र 

6. भाजी का सही अथथ चुशनए। 

अ)  भशजया            ब) सब्ज़ी        स)  भांजी        द) भुशजया 

उत्तर- (ब) सब्ज़ी 

 

व्याकरण 

7."हम कल सुबह घूमन ेगए थे।" इस वाक्य का भशवष्य काल  चुशनए। 

अ) हम सुबह घूमने जाते हैं।             ब) हम कल सुबह घूमने जायेंगे। 

 स) हम आज घूमने जा रहे हैं।             द) हम कल सुबह घूमकर आ गए। 

उत्तर- (ब) हम कल सुबह घूमन ेजायेंगे 

8. " घी के दीये जलाना" मुहावरे का अथथ क्या है? 

अ)ख़ुशियााँ मनाना।                     ब) ज्यादा पैस ेआना।  

स) पडोसी को शचढ़ाना।                   द) रोिनी करना 

उत्तर- (अ) खुशियााँ मानना 



 

वतथनी 

9. िुद्ध वतथनी वाले िब्द को चुशनए। 

अ)  अदशृ्य              ब) पररक्षा                                 स)   मेलजॉल                              द)हीसाब 

उत्तर (अ)  अदशृ्य 

 

िब्द-भंडार 

10. गलत अथथ वाली िब्द जोडी को चुशनए। 

अ) यकीन- भरोसा               ब) नेकी – भलाई    स)   मानव- दानव                     द) िीि-शसर 

उत्तर- (स) मानव- दानव 

 

SUBJECT- MATHS 

 

KNOWLEDGE AND UNDERSTANDING 

 

Q.1 In a map of India which is the northern most state? 
a) Himachal Pradesh   
b) Punjab    
c) Haryana   
d) Jammu & Kashmir. 
ANS: d. Jammu and Kashmir 
Q.2 In a map of India which of the following state is on Western part? 
a) Utter Pradesh    
b) Bihar    
c) Gujarat    
d) Assam. 
ANS: c.Guajrat 
Q.3 How many centimeters are there in 1 meter? 
a) 10 cm    
b) 100 cm    
c) 1 cm    
d) 0.1 cm. 
  ANS:b) 100 cm 
 
Ability to compute 
Q.4 If 1cm = 100km on a map and the distance between the two places is 2.5cm then tick 
the actual distance between them:- 
a) 205 km    
b) 200 km    
c) 250 km    
d) 25 km. 
ANS:c) 250 km 



Q.5 In which direction will Nonu travel if he wants to go from Gujarat to West Bengal? 
a) towards west    
b) towards east   
c) towards south   
d) towards north 
ANS :b) towards east 

Q.6 A hexagon has how many sides? 
a) 4 
b) 6 
c) 8 
d) 3 
ANS:b) 6 

Q.7 Which state is surrounded by four other states? 
a) Himachal Pradesh  
b) Kerala  
c) Tamilnadu  
d) Bihar 
ANS:a) Himachal Pradesh  
 
Problem solving ability 
 

Q.8 Gita and George start from the same point. Gita walks 2 km in West direction, 

then turn right and walks for 2 km. George walks 2 km in North direction, and turn 

right and walks for 2 km. Find the distance between Gita and George now. 
a) 2km.                         
b) 3km.             
 c) 4km 
d)   5km 
ANS: c) 4 km 
Q.9 A man walks 5 kilometre towards South and then turns to the right. After walking 3 
kilometre, he turns to the left and walks 5 kilometre. Now in which direction is he from the 
starting point? 
a) West  
b) South 
c) North East 
d) South west 
ANS: d) South west 
Q.10 Red Fort is in which state/UT? 
a) Himachal Pradesh    
b) Maharashtra    
c) Haryana    
d) Delhi. 
ANS:d) Delhi 
 
SUBJECT-EVS 
 
OBSERVATION AND REPORTING 



 
Q1..The treasure from the earth that gives us petrol, diesel, coal tar, kerosene, wax etc. 

a) Petroleum 

b) Sunlight 

c) Air 

d) Mud 

Ans. A) petroleum 

Q2. Which of the following fuel causes the least pollution? 

a) Diesel 

b) Petrol 

c) CNG 

d) Coal 

Ans. C) CNG 

Q3. Which of the following is a fuel to our body? 

a) Petrol 

b) Diesel 

c) Food 

d) Coal 

Ans. C) food 

IDENTIFICATION AND CLASSIFICATION 

Q4. CNG stands for- 

a) Central natural gas 

b) Compressed natural gas 

c) Compressed neutral gas 

d) None of the above 

Ans. B) compressed natural gas 

Q5.Choose which of the following is a fossil fuel. 

a) Petrol 

b) Diesel 

c) Coal 

d) All of the above 

Ans. D) All of the above  

Q6. Which of the following is an eco-friendly fuel? 

a) Petrol 

b) Wood 



c) Coal 

d) CNG 

Ans. D) CNG 

DISCOVERY OF FACTS 
Q7. Why do we need to save our fuels? 

a)As it is not available in India. 

b)There is no need to save. 

c)As most of our fuels are fossil fuels which are in limited quantity and takes much longer 

time to regenerate. 

d)None of these 

Ans. C) As most of our fuels are fossil fuels which are in limited quantity and takes much 

longer time to regenerate. 

Q8. "Maybe that is why a little girl in a rickshaw was coughing so much." Why that girl was 

coughing while stuck in the traffic? 

a) Because of the sunlight 

b) Because of the smoke coming out of vehicles 

c) Because of the long red light 

d) None of the above 

Ans. B) because of the smoke coming out of vehicles. 

Q9. To preserve resources for future, we have to- 

a) Avoid them 

b) save them 

c) consume more of them 

d) use them more frequently 

Ans. B) save them 

Q10. The alternate source of energy  is- 

A) coal 

B) petrol 

C) solar energy 

D) kerosene 

Ans. C) solar energy 

 


